PATHOLOGY EXAM 2 2005
1. A 47 year old man has a 1 cm whitish pink dome shaped mass on his right buccal mucosa. Sections show a well defined mass that is composed of mature fibroblast and collagenous tissue. Which of the following best designates this tissue mass?

A. Osteoma

B. Lipoma

C. Fibroma

D. Leiomyosarcoma

E. Basal cell carcinoma

2. A 35 year old woman has experience dull pelvic pain for the past 2 months because of a 7cm ovarian mass. The mass is not adherent structures. Nine small premolar like teeth are embedded in soft tissue. Histology shows various mature tissues, including epidermis with hair follicles, nerves, skeletal muscle fibers, and intestinal epithelium. What is the best diagnosis for this ovarian cancer?

A. Odontoma

B. Squamous cell carcinoma

C. Neuroma

D. Rhabdomyoma
E. Teratoma

3. A 59 year old female develops a submucosal, movable, circular mass in her left upper lip, about the size of a marble. Histology shows a well-encapsulated mass, which is composed of epithelial cells closely resembling salivary ductal cells and myoepithelial cells with supporting fibrous tissue. Which of the following best designates this tumor?

A. Capsuloma

B. Fibrosarcoma

C. Myoepithelial carcinoma

D. Adenoma

E. Ductal papilloma

4. A 63 year old heavy smoker develops a white patch on his right ventral surface of the tongue. Histology shows disorganized, pleomorphic cells with large, hyperchromatic nuclei in the lower half of the oral epithelium. The basement membrane is intact. The upper half of epithelium shows normal maturation pattern. What is the proper microscopic diagnosis for this white patch?

A. Dysplasia

B. Choristopia

C. Hypertrophy

D. Basal cell carcinoma

E. Hyperplasia

5. A 70 year old man develops a colonic neoplasm that has arisen from the colonic epithelium with metastatic nodules in the liver. Which of the following most likely represents this neoplasm?

A. Benign polyp

B. Adenocarcinoma

C. Myosarcoma

D. Hepatocellular carcinoma

E. Chondroma
6. A 56 year old female has chronic myeloid leukemia. Cytogenetic analysis reveals a hybrid gene with potent tyrosin kinase activity on the Philadelphia chromosome. Which hybrid gene is this?

A. Fes-sis

B. Ras-myc

C. NF1-NF2

D. Egf-pdgf
E. Abl-bcr

7. In a family of four children, a 13 year old girl has been affected by freckled pigmentations on her face and has developed several squamous cell carcinomas in the past few years. No relatives in the family are affected by the same problems. Which mechanism is the most likely to produce cancer in this girl?

A. Mutation of nucleotide excision repair gene

B. Failure of RNA reverse transcriptase

C. Infection by Epstein-Barr virus

D. Loss of P53

E. Ingestion of food contaminated with aflatoxin

8. A 6 year old boy loses vision in his right eyes due to the presence of a retinoblastoma. Molecular analysis indicates absence of both copies of a cancer suppressor gene. Which is most likely this gene?

A. Ras

B. NF1

C. Bcl-2

D. Rb

E. Msh2

9.  56 year old heavy smoker consuming 1 pack of cigarettes per day develops a squamous cell carcinoma in the floor of the mouth. What is the most likely etiologic factor?
A. Human papilloma virus type 16 and 18

B. Benzo[a]pyrene

C. UV radiation

D. Human immunodeficiency virus

E. Aflatoxin

10. A 70 year old man develops a basal cell carcinoma in the zygoma area of his right face. Several prominent blood vessels are noted in the tumor mass. These blood vessels are most likely induced by which factor secreted by tumor cells?

A. Tumor necrosis factor

B. Epidermal growth factor

C. Tumor transforming factor

D. Platelet derived growth factor 

E. Vascular endothelial growth factor

11. A 65 year old chronic alcoholic develops cachexia. A cancer is suspected. Laboratory studies show elevated serum alpha-fetoprotein levels. Which of the following is the most likely diagnosis?

A. Lung squamous cell carcinoma

B. Prostate carcinoma

C. Liver carcinoma

D. Splenic lymphoma

E. Pancreatic carcinoma

12. A 68 year old woman develops squamous cell carcinoma on her right mandibular ridge. The tumor mass measures 6 cm in its largest dimension and has invaded into the mandible and floor of the mouth. There are no palpable lymph nodes. However, tumor cells have spread to the lung and the brain. Which of the following is a proper designation in TM staging system for this tumor?

A. T1N4M0

B. T2N3M1

C. T3N3M0

D. T4N0M1

E. T5N1M0

13. At which stage is the above squamous cell carcinoma (of question 12) in the AJC staging system?

A. Stage 0

B. Stage I

C. Stage II

D. Stage III

E. Stage IV

14. A 75 year old heavy smoker develops squamous cell carcinoma in the lung. Patient also has renal stones. Laboratory studies show hypercalcemia. However, there are no detectable parathyroid nodules and bone scans show no metastasis of cancer tissue to bones. What is the most likely cause for hypercalcemia in this patient?

A. Cancer cells activate parathyroid function

B. Cancer cells produce thromboplastin like substance

C. Cancer cells undergo massive necrosis

D. Cancer cells consume large amounts of vitamin D

E. Cancer cells elaborate parathyroid hormone related protein

15. A 58 year old heavy smoker develops a tumor at the right border of this tongue. Histologic examination shows a squamous cell carcinoma. There are keratin pearls in almost all cancer cell islands. How should this cancer tissue be graded?

A. Grade 0

B. Grade I

C. Grade II

D. Grade III

E. Grade IV

16. A 57 year old obese woman had Cholelithiasis 5 years ago. She does not smoke. She has pain around her knee joints and hyperglycemia (180 gm/dl). This patient is at greatest risk of developing which of the following neoplasms?
A. Osteoma

B. Chlesteatoma

C. Islet cell adenoma

D. Endometrial carcinoma

E. Hepatocellular carcinoma

17. Surveys of a poverty community show that some people have a symptom complex of pneumonia keratomalacia, urinary stones and follicular hyperkeratosis. A deficiency in which of the following is most likely present in these people?

A. Vitamin A

B. Vitamin B1

C. Vitamin C

D. Vitamin D

E. Vitamin E

18. A 3 year old boy develops abnormally. His skull bones are soft and his legs are bent outward to form an O shape. His vision and heartbeats are normal. There are no petechiae or purpurae on his gingiva or skin. His abdomen is not enlarged. What is the most likely diagnosis?

A. Kwashiorkor

B. Scurvy

C. Pellagra

D. Beriberi

E. Rickets

19. Scientific studies show which of the following daily dietary practices can reduce the risk of colon cancer?

A. Eat more spicy food

B. Drink a glass of white wine

C. Eat a cup of ice cream

D. Eat more vegetables

E. Consume more beef

20. A 17 year old male has growth retardation with small testicles, loss of hair and hyperparakeratosis of the skin as well as the oral mucosa. Deficiency of which of the following is the most likely cause?

A. Iron

B. Zinc

C. Calcium

D. Selenium

E. Iodine

21. A 63 year old man has coronary atherosclerosis and is placed on an exercise and dietary program to prevent further progression. A reduction of serum level of which of the following best indicates the success of the program?

A. Glucose

B. Sodium

C. Potassium

D. Albumin

E. Cholesterol

22. A 25 year old man experiences sudden onset of severe, sharp chest pain. Cardiograph shows a dilated aortic root and arch with a tear of the aortic intima. Histology of the aortic wall shows few, poorly developed elastic fibers. Which of the following is the most likely cause of these findings?

A. Diabetes mellitus

B. Essential hypertension

C. Congenital syphilis

D. Atherosclerosis 

E. Marfan syndrome

23. For the past 3 weeks, a 72 year old woman has been bedridden while recuperating from a bout of viral and bacterial pneumonia. She now develops swelling and tenderness of the right leg, which worsens when she raises or moves the leg.  What has most likely developed in her right leg?

A. Varicose vein

B. Arterial aneurysm

C. Disseminated intravascular coagulation

D. Phlebothrombosis

E. Capillary hemangioma

24. For more than a decade, a 47 year old man has had poorly controlled hypertension ranging from 150/90 mm Hg or 160/90 mm Hg. Over the last three months, his blood pressure has increased to 250/125 mm Hg. What vascular lesion is most likely to be found in his kidney?

A. Granulomatous arteritis

B. Medial Calcinosis

C. Hyperplastic arteriolosclerosis

D. Polyarteritis nodosa

E. Fibromuscular dysplasia

25. An 82 year old man with a length history of smoking survived a small myocardial infarction several years ago. He has hypertension (165/100 mmHg) and type 2 diabetes. There is a 7cm pulsating mass in the midline of his lower abdomen. What vascular lesion does this mass most likely represent?
A. Cavernous hemangioma

B. Atherosclerotic aneurysm

C. Glomus tumor

D. Cystic hygroma

E. Giant cell carcinoma

26. A 55 year old man has worked outdoors in a large city for the past 40 years and has been exposed to heavy air pollution. Particulates in the air:

A. Are not associated with lung or tissue injury

B. Cause most damage to the lung airways when over 50 μm in diameter

C. Cause most damage to the lung airways when over 1 mm in diameter

D. Cause most damage to the lung airways when less than 10 μm in diameter

E. Are uncommon and not component of air pollution

27. A 35 year old man is transferred to Philadelphia. Prior to purchasing a home in Montgomery County, he has the house inspected and radon gas levels evaluated. Radon gas is

A. An inert gas that does not affect the health of individuals at any concentration

B. A radioactive derivative of uranium present in soil

C. A highly reactive gas that strongly binds to hemoglobin, rapidly leading to asphyxiation

D. A highly reactive gas that quickly leads to kidney necrosis at any concentration 

E. Able to induce rapid liver damage by creating many vascular thrombi

28. A 58 year old man has worked most of his adult life sandblasting building facades. Lately, he has been experiencing shortness of breath and just recently a TB test gave a positive result. He most likely suffers from:

A. Berylliosis

B. Massive pulmonary fibrosis caused by silicosis

C. Simple coal workers pneumoconiosis 

D. Anthracosis

E. Asbestosis

29. A 50 year old man had a chest radiograph which revealed unusual radiopacities. A lung biopsy was performed to determine the nature of the radiopacities and the pathology report described the presence of ferruginous bodies in the lung tissue. The man most likely:

A. Had worked in a coal mine

B. Had worked in the aerospace industry

C. Had worked as a lumberjack

D. Had work in an asbestos mine

E. Had work as a fisher man

30. A 65 year old man had a productive cough and difficulty breathing. A chest radiograph revealed radiopaque areas in the lungs, particularly at the base of the lower lobes near the diaphragm. A biopsy revealed the man had mesothelioma. The man most likely:

A. Had worked in a coal mine

B. Had worked in the aerospace industry

C. Had worked as a lumberjack

D. Had work in an asbestos mine

E. Had work as a fisher man

31. A 20 year old man is trying to repair an old electrical appliance when his hand touches a frayed electrical cord carrying 130 volt, 10 ampere alternating current. Which of the following is most likely to develop as a consequence of his electrical injury?

A. Bronchoconstriction

B. Heat stroke

C. Cerebral artery thrombosis 

D. Gastric hemorrhage

E. Ventricular fibrillation

32. Hormone replacement therapy (HRT) consisting of estrogen and progestrin, in postmenopausal women reveals a decreased risk f osteoporosis. Which of the following conditions is also most likely to occur in women receiving long-term HRT?
A. Cervical carcinoma

B. Thromboembolism

C. Blindness

D. Iron deficiency

E. Kidney failure

33. A 51 year old woman suffers from rheumatoid arthritis for over 5 years and now suffers from salicylism. In addition to headaches, nausea and diarrhea, the woman most likely also has:

A. Acute erosive gastritis with ulceration and bleeding

B. Blindness

C. Glomerulonephritis due to type I hypersensitivity

D. Chronic bronchitis

E. System sclerosis

34. A 61 year old woman presents to your dental office for routine treatment. Her medical treatment history suggests she has suffered from chronic alcohol abuse for many years and that she has a number of signs and symptoms caused by cirrhosis of the liver. Which of the following is related to cirrhosis due to chronic alcohol abuse?

A. Esophageal varices

B. Ovarian carcinoma

C. Skins warts

D. Lupus erythematosus

E. CREST syndrome

35. A 25 year old man was repairing the engine of his car in his closed garage with the motor frequently running for extended periods. During the repairs the man becomes dizzy and then loses consciousness. The substance most likely present in his blood that contributed to his loss of consciousness. Is:

A. Acetaminophen

B. Lead

C. Polycyclic hydrocarbons from the car exhaust

D. Carboxyhemoglobin 

E. Acetaldehyde

36. CD4+ lymphocytes from certain individuals do not become infected when incubated with HIV. Such resistance is most likely caused by a mutation effecting genes for which of the following cellular components?

A. T cell receptor

B. Chemokine receptor

C. MHC Class III molecules

D. Transferrin receptor

E. Platelet derived growth factor

37. A 43 year old woman has been bothered by a chronic dry throat with cough and has had increasing difficulty with dry eyes and blurred vision. Her tongue is fissured and dry. Lab studies show she has serum antibodies to SS-A and SS-B molecules. Which of the following disease does this woman most likely have?

A. Sjogren’s syndrome

B. Systemic sclerosis

C. Ankylosing spondylitis

D. Berylliosis

E. Tuberculosis

38. A 34 year old woman has experienced increasing muscular weakness over the past 6 months. After a night’s sleep her symptoms are reduced. There is no rash or fever. Which of the following is the most likely mechanism for the muscle weakness?

A. Lysis of muscle cells by CD8+ T cells

B. Delayed hypersensitivity reaction against muscle antigens

C. Macrophage secretion of enzymes and free radicals destroying muscle cells

D. Antibody mediated dysfunction of the neuromuscular junction

E. Deposition of antigen-antibody complexes in the muscle capillaries

39. A 28 year old woman has had increasing pain in her hands and in her left hip with sacroiliitis over the past 6 months. Lab studies reveal she is HLA-B27 positive. Anti-nuclear antibody test and rheumatoid factor are negative. The woman most likely has:

A. Rheumatoid arthritis

B. Systemic sclerosis

C. Ankylosing spondylitis

D. Systemic lupus erythematosus

E. Sjogren’s syndrome

40. A 40 year old man has been infected with HIV for the past 10 years. He has had several bouts of extensive oral candidiasis that extends into the esophagus. He has recently developed Kaposi’s sarcoma involving the skin and has had 23 pound loss in weight in the past 4 months. Which of the following types of cells is most depleted in his lymph nodes in this late stage of disease?

A. CD4+ lymphocytes

B. CD8+ lymphocytes

C. Eosinophil

D. Macrophage

E. Plasma cell

41. A 2 year old boy has had almost continuous bacterial infections since he was 6 months old including middle ear infections and pneumonia. Various bacteria, including Staphylococcus aureus and Streptococcus pneumoniae have been cultured. An older brother with a similar condition died because of overwhelming bacterial infections. His sisters and parents are normal. Which of the following lab findings would most likely be seen in this boy?

A. High concentrations of anti-HIV antibodies

B. Positive anti-nuclear antibody result

C. Absence of immunoglobulins in blood and tissues

D. Complete absence of T cells from lymph nodes

E. Undetectable thymus due to lack of development

42. Type I hypersensitivity reactions are based upon:

A. Antigen binding to IgE on the surface of mast cells

B. Soluble antigen-antibody complexes forming within blood vessels

C. CD4+ T cells activating macrophages

D. CD8+ T cells activating macrophages

E. Antibodies to drugs that have bound to the surface of red blood cells

43. Acute transplant rejection:

A. Occurs within minutes of transplantation

B. Is mediated principally by antibodies to the histocompatibility antigens of the transplanted organ

C. Is also known as graft versus host disease

D. Is principally a cell mediated response that occurs 10-14 days after transplantation

E. Is untreatable with immunosuppressive drugs

44. The principal mechanism of immune damage in systemic lupus erythematosus is:

A. Type I hypersensitivity reaction

B. Type II hypersensitivity reaction

C. Type III hypersensitivity reaction

D. Type IV hypersensitivity reaction

E. Type V hypersensitivity reaction

45. A characteristic finding in rheumatoid arthritis is:
A. The formation of a pannus in affected joints

B. Inflammation and pain of the ligaments attaching muscle to bone

C. Temporary arthritis that does not cause deformity

D. Antibodies to the acetylcholine receptor on skeletal muscle end plates

E. Antibodies to the thyroid stimulating hormone receptor causing thyroid enlargement

46. A 3 year old girl develops a high fever with malaise and multiple small blisters on the buccal mucosa, labial mucosa and gingivae. The blisters quickly burst forming small shallow ulcers. The clinical diagnosis is acute gingivostomatitis most likely caused by which of the following?

A. Epstein-Barr virus infection

B. Herpes simplex virus Type I infection

C. Cytomegalovirus infection 

D. HIV infection

E. Candida albicans infection

47. A 39 year old man with recent Pneumocytsis carnii infection of the lungs and extensive esophageal candidiasis develops Kaposi’s sarcoma. The sarcoma is most likely caused by:

A. Pneumocystis carnii

B. Long term exposure to asbestos

C. Candida albicans infection

D. Epstein-Barr virus infection

E. Human herpes virus Type VIII

48. A 19 year old male developed a fever, pharyngitis and cervical lymphadenopathy. The lymphadenopathy persisted for 3 weeks and he visited his doctor. The doctor made the diagnosis and told the young man to refrain from heavy physical exertion for fear of splenic rupture. The man most likely has:

A. Atherosclerosis of the splenic artery

B. Progressive pulmonary fibrosis

C. Infectious mononucleosis

D. Tuberculosis

E. Rheumatoid arthritis

49. A 28 year old woman develops an ulcer on the lower lip that is round, 1 cm in diameter and has a smooth base. The lesion resolves spontaneously after 4 weeks. About 6 weeks later she develops a widespread mucocutaneous rash that also involves the palms of hands and soles of the feet. Lab workup reveals the presence of spirochetes in lesional tissue. This woman is most likely suffering from:


A. Tuberculosis

B. Infectious mononucleosis 

C. Primary syphilis

D. Secondary syphilis

50. Actinomycosis

51. A 65 year old diabetic woman taking medication to minimize autoimmune disease, and in poor general health, develops an ulcer in the left posterior maxillary vestibule. Examination of the area reveals dark, necrotic material and necrosis of much of the wall of the maxillary sinus. A biopsy reveals organisms in and around blood vessels leading to ischemic damage. This woman most likely has:

A. Candidiasis

B. Primary syphilis

C. Infectious mononucleosis

D. Primary herpes

E. Mucormycosis
